


        

     

   
 

   

   

  

 

  

  

 

 

 

   

  

 

 

 

 

  

ACQUIRING AND USING VOCABULARY 
INSTRUCTIONS FOR TEACHERS: 

¶ Review student instructions. 

¶ 



        

     

  
 

 

 

   

   

    

 

  

  

 

  

 

 

 

 

 

 

 

 

 

http://www.youtube.com/watch?v=-qpbWZRC_dw
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WORD BANK: 

children Five billion one billion thirty 

cities how much pay twenty 

collecting Johannesburg South Africa whom 

conflicts majority supply 

contaminated millions ten million 

SUPPLEMENTARY QUESTIONS: 

1. What are three illustrations of the inequalities in our world? 

A. one billion people have to search for water 

B. millions of women have to spend several hours each day collecting water 

C. contaminated (dirty, polluted) water kills 6,000 people every day, mostly very 

young children. 

2. Is there enough water for everyone? 

Yes, there is (Yes, there is/No, there isn’t) enough water for everyone. 

3. According to the narrator, what is the question about water? 

The question is who should pay for water, how much they should pay, and whom 

they should pay. 

4. What is happening for the first time in history? 

For the first time in history, the majority of people live in cities. 

5. What evidence does the narrator give for why it is hard to supply, or bring, water to cities in 

the future? 

Five billion people will live in cities in about twenty years. There will also be 
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Does the narrator have a positive view or a negative view about the future of water on Earth? 

Support your answer. 

Suggested response: The narrator has a negative view about the future of water on 

Earth. He believes there are grotesque inequalities between how rich people and poor 

people have access to water. He believes there is enough water for everyone, but he 

doesn’t know who should pay for water, how much people should pay, and whom 

they should pay. He believes the most difficult task will be to supply water to very 

large cities, and he believes this challenge will cause conflicts. 





        

     

 
 

   

  

  

 

 

 

   

   

 

   

  

  

  

 

 

 

 

    

    

    

  

  

  

  

  

   

 

  

 

 

 

 

FUNCTIONAL ANALYSIS 
INSTRUCTIONS FOR TEACHERS: 

¶ Review student instructions for functional analysis with the whole class. 

¶ Complete the functional analysis with the whole class. 

¶ Have students work with a partner to rewrite the sentence in their own words. 

INSTRUCTIONS FOR STUDENTS: 



        

     

 
  



        

     

  

 
   

    

  

  

  

 

 

   

 

 

 

 

    

   

 

  

 

   

 

     

 

  

 

 

 

  

    

 

  

 

 

  

 

 

 

Appendix A: Glossary Word Definition Example available possible to get something Clean water is not easily 

available 

to everyone. authority a person who has the most power, control, or knowledge For the authorities, solving the city's water problem is a top priority. billion 1,000,000,000 Bottled water is now a billion-dollar industry, even though it costs 5,000 times the price of tap water. brand a mark or particular type of product Guests can choose from about 100 different brands of water. conflict disagreement; fighting Supplying these cities with the water they need will be a hugely difficult task but is sure to cause social conflicts. contaminated dirty or harmful Contaminated water kills about 6,000 people every day, most of them children under the age of five. enough as much as you need There is enough water for everyone. exclusive restricted or limited to just some types of people (especially the rich) The bottles are transported halfway around the globe to give me and the other guests a taste of this exclusive water. fetching going to get something One billion people have to search for their water, collecting it wherever they can find it. Millions of women spend several hours every day fetching the water they need for their families. globe world The bottles are transported halfway around the globe to give me and the other guests a taste of this exclusive water. © 2018 American Institutes for Research Center for English Language Learners 1 0  



        

     

   

  

  

 

  

  

  

 

   

  

  

 

 

 

 

  

 

 

 

  

 

  

  

 

 

 

 

 

 

   

  

  

 

 

 

Word Definition Example 

illustration example or demonstration The water bar affords a 

particularly grotesque 

illustration of inequalities in our 

world. 

inequality not being equal or not having 

equal opportunities or status 

The water bar affords a 

particularly grotesque 

illustration of inequalities in our 

world. 

majority most; more than half For the first time in history, a 

majority of the world's 

population lives in cities. 

priority something you decide is the 

most important thing 

For the 



        

     

  

 

    

 
 

  

     

   

 

   

 

Appendix B: Teacher Resources 

status symbol 

¶ 

¶ 
¶ 

Look at the pictures. These are all pictures of things that people want to show that they are rich or 

successful: a nice house, a fancy car, expensive jewels. These are all types of status symbols. 

A status symbol is something you have or a way of living that shows you are rich or successful. 

Partner talk: In the video today, the speaker calls fresh water a global status symbol. Think about 

the word “global.” What is a global status�symbol? Think about what you have learned about 

water. Why would fresh, clean water be a global status symbol? 

© 2018 American Institutes for Research Center for English Language Learners 
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